4. Solve the perimeter formula, P = 21 - 3w, for [,
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Target 1.A. Identify whether a relation, given a graph or table, is a function.

1. Determine if the following tables are functions or not functions,

a. b. c. d. .
x|y xly x|y xiy Xy
210 1,3 b1 1] 1 011
212 114 412 212 213
214 1,2 4|3 31-1 415
216 114 B |4 41 -2 7

. 5 _
No ~ No Mo yes  yés
Target 1.B. Using function notation, evaluate a function for a given x-value,

Evaluate the function for the given value

2. I f(x) =% — 8, find the value of £(4),

Target 1.C. Rearlange formulas to highlight a quantﬂgr of inferest, using the same
reasoning as solving equations.

3. Solve the volume formulg,__lfl_ = [wi, for w,

Ih

~Z ) =2 _
pPaw =

. - a‘ 7 o
Target 1,D. Find and graph the inverse of a linear funection.

5. Find the inverse of f(x) = 3x —

X 3¢ )
x%i‘f €K

Target 2.A. Utﬁlze agraph t ﬂlu‘%rate the solution set of an absolute value mequahty

8. Solve and graph of the solution to this mequahty lx+3] <5
“+t3 £ & AVD XFIZ2 -~
) < 20 AND X 2 —F

&

Target 2.B. Understand the relatlonshlp%eﬁreen an e%ﬁatlon and its graph
Slope =—2 8
7. Which function is shown? V o0 +W O Ll ->
a. y=2lx+4| : opp Fsqme
b, y=—2|x—4] (d.}z=—2|xl+4
e y=—2x+4 e y=2xl+4 R ¥ ]

£
LT

y:_,g_{x%()/"f”/ /

o2
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8. Fedex uges the weight of a package to determine the charge for dehvery The charge is
$6 for the first pound (or any fraction thereof) and $2 for each additional
fraction thereof) up to 10 pounds.

b

T
" If C(x) is the charge for delivering a package weighing x pounds, s |
6 for 0<x<1
Cex) = 8 for 1<x<? : 5(?'5"/8\)\‘ K -
) =4 10for 2<x<3
N2 for 3<x <4 y
and so on. Sketch the correct graph of C(x). for0<x=<4 ~
9. Write the Fquatian for each piecewise function. 5’ o
f spe =1 mﬁ% bl
/a‘ }i‘ 7} = v-g ‘ . [
,,gie “:: /%" // b-—-’ m:—' - +
By f<{ 4 b‘:/" P
-B i ,g 4 -8 . 4
LIy o
g SERES TN

x4 f x< -

10, Write a systems of equatmns that correctly model the. s:ttuatmn DO NOT

SOLVE, You sold 48 boxes of candy for the math club fundralser The large size box costs
$2.50 and the small size box costs $0.75 éach. You sold $88.50 WO]:‘th of candy, Letx egual
the number of 1arge hoxes m sold and let y equal the number of small boxes of cap dy

bowes < '><+-\/-— g
2,50 + 0. 75'“),-’%’5@

Target 34T Tranglate 7 verbalmodel Into an algebraic Tiodel:

qu —

2><+]§ Fox2 l

Target 3.B. Solvea system of equations graphically, algebrama}ly and }zsmg m o

y=x-+3 m“"k-

11. Graph the solution to the following linear system.. g 7 3 i
L y=—Ixt 5 [ |

ES
..

12, Solve the folio tem of equations: |, 7 Ciy +1 )

Yy — BT‘,‘MH)H-Q,’? A

-3}

g +3
~Fx= —2Y :
=5 (3,13)

’ Uy — )2 ._,,¥_~_-,,-217 \/::‘/[3)?”/:{3
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13. Solve the following system of equations: T Ay =10 oy ~3Ix+ =10

Sx+4y =6
\ﬁ(r@ -.F_‘f\f = Eg(.o
Ll\fz*"# LY = P

et =S =Yy = b
. : N -

14, You are selling tickets for a highsehool foothall game, Student tickets cost $2 and

general admission tickets cost $4. You sell 25(} tlckets,gnd collect $700. Determine how

ety tickets of each are soid . 250 — ~ 2y = SO0
vz studsnt = ISO «;#Y = 700.~> Ix u,ufy = 700
_ 2y Ty 7

\]_:GH = 100 Qy = 200

yy_._/C?O/ X< =/€0

Target 3.C. Understand the relationship between a system of equations and its number of

solutions, d Yo
15. How many solutions does the following sysytem of equations have? , - . 5y =39 ~ i~ —{2’
‘ y . B8y q Y oaxt 20y =24 s _2?

m e»————f'“ogé

Tal get 8.D. Graph a system of inequalities to determine the feasible reglon and maximize

or minimize an objective function. Aot \ "\) | w

16. Graph the solution to the systems of inequalities. yii;: :’ 5 _,d..»—-—-——J‘"? /./ mEvY g
(0,0) Y <x ! s }K/ 2k colutun
o< Frue : 1% " avla

: . 454 ‘
(0)0) \/lH }('}’"Sd _. £ -- A“ o &J
0 zS$ JFafls® |

Target 3.E. Problem solve; using Linear Programming,

s N

SRR

AT
VLA T :
7 ) . (/é 8 L B
17. Write the list of constraints and objective function to correctly model the
situation. DO NOT SOLVE. Juan’s bakery can produce éither donuts or muffins, Ina
given day, the bakery can turn out at most 800 items, of which at least 300 donuts (d) and
at least 250 muffins (m) are required by regular customers. The profit on a donut is.86 and

on a muffin is $5.- | 0' + ™" S_ ?OO

d> 300  Pz=ibd+bm

> 2SO
18. A feasﬂ)le region has vertices at (O @), (6 ), {7, T)and (0, 9).
maximizes the function C=xt 4y over this region. ( 0,0
——— | ' 6,0)

. _ . . 7} - o
Target 4.A. Understand the relationships between expgnel.lxtié functions and their graphs.
19. Smhe function that he

g y= vyt

et ."‘“‘:,”f?,ﬂt Az o / grof

Zgpresents the growth curve shown in the graph below:
3Ty
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Use the graph below for problems 20-21. ' . |
20. Which type of function is represented by this graph? ‘ ‘

exponenhal Je Ccu/

21, What ave the domain and range of the graphed function?
Dt oall Ma # (s
R EY‘ v S0 . - PP EREE

Target 4.B. Model and evaluatef appli¢ations ifivolving exponential growth an& decay.

22. Backin 2010, a Nmtendo Wil paming system cost $350 Each year (t) since 2010, the cost (C) of
the Wii decreases by 10%. Write an exp redionrta.describe the sibuation.

r‘:;]*—.,PO'CgCi }
N ‘f

23. $5000is depomted in a bank account that earns 6% -annual interest, compounded quarterly.

A ————

n
Use the formula A Pil+— ) to fmd the account balance at the end of geven years,
q.71

24. $700 is deposited in a bank account that pays 4% annual Inferest, compounded contmuously
- Use the formula 4 = Pe", to find the balance m the account afier 6 yeax

A
200 &

Target 4.C. Understand how to move between exponential and logarithmic forms

25. Rewrite in exponential form: log,x=y -~ 26. Rewrite in log

Target 4.D. Simplify logarithmic expressions,

g¥ =x

27. Bvaluate: log 39 . 28. Evaluate log, 48 L
3239 x= % Y

) 03_
Target 4.E, Solve exponential and Iogam TTic Gquations.

29. Solve the equation: ¥e* —\% =+9 30. Solve the equation: iﬁ%ﬂ +16) Mﬁix —Vg}\é'
. 4 .
iﬁ .

) 36 —L¥
=3 e 2 X, 09%0) o s‘z,{j;k
Target 4.7, Condense and expand logarlthms uging logarithmic properties. =
4y2 ' '
;_-3 1. Expand log 32. Condense: ‘ |
"I 6a X y lo q 2 i

qoﬂ)(“}*;l]o:l y) g’@
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Target 5.A. Add, subtract and multiply complex numbers

For problems 33-40; Simfplify, then write the expression as a complex number in standard
form :

33. V48 34 (744D + (11-2) 36. (2 —50) .—IF(B?&') |
el AT ¢ '*6 .—QL

36, (41)°

(LIO( LWL) ‘N +;Lh ‘ G-t + 130 =3
c~)\
Gq}?)‘ “;ILH ‘h :(34 YA

Target 5.B. Solve quadratic equatlons graphically and algebraically

3. 4-1(1+6L) 38. (2 +4D0G ~ 71)

39. What are the soluti{m§ to the following quadratic equation: 3% - x—-4=0

Target 5.C. Use the discriminant to determine the number and type ¥ roots and verify by

graphing, o b o !DQ,_ Lr ac.
40. Find the value of the discriminant:  ~322 = 12x+6=0 (.13 >~ (,3)(
| 14y + Ta=(2lk
41. Describe the number and type of roots of a quadratic equation if the value of the discriminant is
less than zero. -
70 thon seno- X Complex seluthoens
Target 5.D. Soive quadratic equations with complex solutions o a=] b ~;., . / é
—bib —dac VoS
42, Use the guadratic formula, x = to ﬁnd all of the solutions of ¥ —x+16=0
LeYac . [ e A )+3LJ7

(-—D‘ Yo X = - = 2 ~
Y = \ = |

Target 5.18. Write a quadratic equation in y = ax’ +bx -+ ¢ form given its roots.
Y

43. Given the rootsx = —6 a =.7 write the correct quadratic in the form” y=ax* +bhxtc.
‘ ( ¥+ b X X -—7> Fol L
‘n—_,_,_—-—/ ) .

--”7>§H;>< 472

W

Y= x"=x




